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s(dy) (d; (dy) 3 3(55] (@) -
3 5
EI] :_yi_ + x( %x;) =0.

1L [BHERM)  BEATH,x e (0,a] B f(x) TR =
2
fi(x) = jof(J:‘)d:.
Wl 2 RE =

2(x)f (%) = f(/27) (2*)",BD 2f(2)f " () —f(x)2x = (%) =x.
XREAHPS 2 =0=f0) =0.

Hil Fi€?) =—x2.

2. [T 5RM] ﬁﬂ-g— HBRE . 8 f7(x) 3= 7 = RSB Sf(x) — BT 5,0 2% 03k 2k 48

B = lim L2 20) =2 (v ) gy [(5 #2h) —f (x4 h)
h—0 k

2h h—0

iiﬁ%ﬁ% BER,ERE f(2) 2 SR S 10K .Kﬁﬁtﬁﬁﬁ%%ﬂs&ﬂ ABH £ (x) B5E
XArfg

K& = lim[£ (“2’51 =f'(x) L, _f ‘“") =f ) = 2p7(x) ~f7(x) = (2 .

>EEW —REMRABS GRS

L [4#7] Eﬂ=[il[xz+2x\/1—x2+(1 -22)]dx
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= J-l‘ldx +2J.1_1xmdx =2.

(ﬁ_tzj‘:lx,/ln— Pdy = 0— F RBANMEAERYAE)

- 2
Z.Iﬁ'ﬁ) Jﬁﬁ J: je'Z;d; = 2] gde‘m e
(x =) o
=4e* —2e2 +2 =2e2 +2.

dsin?x ¢ =sin’z 1 g 1 a=tds
3. P =
[ﬁﬁ] lﬁﬁ J’01+esln= J’Ul‘l-e’ j01+e"
: ! 2e
—_ ~I = .
In{l +e7*) . In o]
! i 1,2
4. [wHr] ERA = J- wl—arcssir:.‘accl;\:2 M'—l—xzarcsinx _ _LJ' x 1+ ld
02 2 o 2J0 12
=_1T"+LJ-1,\,.I'I—I2dx—Larcginx ! 1+_]'__,1_1=_17_
4 2 o 4 2 4 4 8’

ﬁ;cpj VT =4 R BB TR

6. [‘53'#1"] HERmSHHTREN Eﬁﬁiﬁﬁ‘":‘rﬁﬁ
L= J' Vx(E) +y 2 (e)dt = f Va*tPcos?t + a*t¥sin®ids

2
= 2n’a.

= afhtdt =.g- vl—tz
0 2

T0904) MR ARE = L

(1+y7%)7
1 1 1
= 2x=2 "= ’:—-' e A
3 ¥ =Swy' =2, y'=y el 7
1
=k = y3 _l i 1
: (1+L)z (1 +92)% (1 +2x)7
ZREIMEES
LI##H] 1= ff(sx}d:x—”—-fé[’f(u)du,ﬁ(m.

Z-Iﬁﬁ*-l B, (A),(B),(C) HH flx) 7 E[-1 2}%’?‘9&@?4‘@%)& A
A=) #E[-1,2] AT, B Elj_lf(x)dx.ﬁ(n).
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